Task1l, 2

|ESHRE. BETHEES (SERAER)

o —HEPRYIES

HANA—TeREEIA NG, BIR2EEIRMAY w, b, IEFERNRERFHIIGEE:

y=wx+b

BMBE—A)HEuEKx,y), BirnRs/IMIRE (IRKRE) :
L(w,b) = 1 zﬂ:(wm +b—y)?
b n i:]- 1 T
FI=f# (Closed-form Solution)
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XiE R ZERIFAIEURR .

HETPFE (Gradient Descent)
ZLEBE . NBTWIIRER R, BE9EERE FERRNGEREHSE v,
RCEREL:
1 — )
L=—% (wzi+b—u)

n <
i=1

b, EEIKEL.
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KREBE:

oL QZmi(wmi—l—b Yi)
%ﬁ "y
:ZW%+59J
9 n
F—SEH:
oL
w zw—g?._
b =b_n.&v
ob

Hrehn 2%3J% (learning rate) ,

- SHETRHES

XA IEFIGIRE (Mean Squared Error, MSE) {E IR ERECRE ERBTUNAIIFIR, FRCEREL J(w,b

EMA:

1 & , .
J(w, b) Z(y —y" D (w'z 4 b —y)?

2m
1=1

XERY 12 BATHEREERSHE. HNMNBEFRMEHENE J(w,b) B/ wx F] bx

FzU## (Normal Equation)

ATEHHE, HIVGRED b INERE w §FA—MTRINEDE:

w d+1
(b)ER

. SIS & = (m) c RI+1

o MHNERE w

X, BAIZMRE AT LRESN:

WiE, BB EIEERT /BT
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1%iH4ERE X, € R™ D, §—TRE— MR GHILET ER1E—5))

()T 1
- (z2HT 1
b= .
(z™)T 1
HLiFEREy € R™:
y(l)
y(Z)
Y= :
()
FrBHEARTIHERT LA -
Xpw.

FELE, FRKEREFTLAGAL:

‘mm=gﬁxw—wﬂxw—w

AT HENERRRERN wh, BAIFEXS wh REBE, FHSEAZE,

Vol () =V, (%(Xm — ) (X — y)) =0

BHAERS
1 T - T
E(Xb Xy — Xpy) =0
Xi Xy = XJy
REEEIATE:

- T 1T
W = (Xb Xb) X5y
Heh, w8981 d NTER wx, BRE—1JTER b+

BEE T P#i% (Gradient Descent)
BHREITEREARENT w 0 b BRSEL.
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3t w; KIES:

s 2\ BE | MESIE § MHE

¥ boKRESF:

3J IZ(wm b y®)y. (wm 1 b)

AT 1<~ . :
%=E2(y()—y{))
i=1

ERETENE—SH, BAERRUTHANERSH w b, R a AFEIR (—MEHEHSKAE
24 .

B wj:
oJ
w_? =w3 O’.'aT
b
1 . ~ (i i i
W :wJ—Q—Z(y()—y())m()
i=1
BHb:
oJ
b:i=b—a—
b
1 m.
b—=b— a— (8 (0
am;(y y)
BIENE:

1. FEHADIE1E w A Do

2. EEUTHSEERIURE (B, h%u;ﬁl*ﬂﬁﬂd VIR EIRAEORED)
aﬁ%émwﬁb?ﬂﬁﬁ ﬂaw
b. RINEMFAIESH w; (fOI’j =1,...,d) ¥ b,

3. RAREN w M b MERNEXRFIEMRMLEE w”™ H b



| EEfZIKE S PyTorch Btk EIR(E

- framiKE

5KE (Tensor) 2TEHEERIEE, 2 PyTorch PREANEIESEN, HET:
o IRE (04BKE) — torch.tensor(3.0)
o« [E (143kE) — torch.tensor([1.0, 2.0])
o %ERE (2#E3KE) — torch.tensor([[1.0, 2.0], [3.0, 4.011)
- EEHKE: BGE3D (BxExEE) , MRE 4D

PyTorch RFTAITEERETIKE, ANEMSRE. XS &MEEIFSE.

* PyTorch skERIERHIRIE

import torch

EliEKE
= torch.tensor([1.0, 2.0, 3.0]) # —fKE (AE)
b = torch.tensor([[1, 21, [3, &]1]) # —#=KE (46/%)

REFAR
print(b.shape) # & torch.Size([2, 2])

# SKENE
= a + torch.tensor([4.0, 5.0, 6.0])

# KEFE (3 vs FEMESRE)
dot = torch.dot(a, torch.tensor([1.0, 1.0, 1.0])) # Bk
mat = torch.matmul(b, torch.tensor([[1], [1]1)) # FEMEEA

BIEFAR
= torch.tensor([1, 2, 3, 4])
= x.view(2, 2) # Bk 2x2 fEFE

BaikS

= torch.tensor([1.0], requires_grad=True)

.backward()
print(w.grad) # @ tensor([2.])

#
w
y = w * 2
y

D:\Documents\WeChat Files\wxid_xwmilvwfdp2f22\FileStorage\File\2025-07\%& B H| 28 5 IR FE [ 1ab2222\& B 4] 38 52 SR 12 [ Lab>p
ython test.py

torch.Size([2, 2]1)

tensor([2.])
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| FpytorchSEHR2MRZAYITESIZIE (RUIANIER)

* SSRK24ETODOERERIES, FHIBNBMEITERICRESLIERER

Task LIXEBERLERIIFNAZE, BEIRITZ AN —RIEKRE&EMAIRIE w FIEEE b, (FEUEES%

y=wx+by RATEEMGIAHFAR. BIeitBEEA x Ml y (9E, RERMLERULESE w, FEd
b=y —wz”
KIGRE.

# Task 1: AXBE v = w * x + b
def 1r_cf(X, Y):

= torch.tensor(X)

torch.tensor(Y)
len(x)

# (FREMSEMRLEMERIF: w = cov(x, y) / var(x), b =y - w * X

x_mean = torch.mean(x)

y_mean = torch.mean(y)

w = torch.sum((x - x_mean) * (y - y_mean)) / torch.sum((x - x_mean) *x 2)
b = y_mean - w * Xx_mean

return w.item(), b.item()

Task 2IX BEA IBE ANEACABER S w fibb, S/ ESESEZERISGIRE (MSE) &
K. £, REMRESE wb HENE, HHRRKEERREEERERE, REEEESH
EHSH. MERZXE, wil b SFANBILRIUE, NMEELREWNIEIES.

# Task 2: HEENE
def lr_gradient_descent(X, Y):

torch.tensor(X)

torch.tensor(Y)

torch.tensor(0.0, requires_grad=True)

torch.tensor(0.0, requires_grad=True)

= 0.01 # IR

epochs = 500

for epoch in range(epochs):

y_pred = w * X + b
loss = torch.mean((y_pred - y) *x 2) # MSE

# RENERE

loss.backward()

#t FEHSE
with torch.no_grad():
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w -= lr * w.grad
b -= 1lr x b.grad

w.grad.zero_()

b.grad.zero_()

return w.item(), b.item()
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IRIS Dataset (Closed-Form)
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* Task #2: RHARAIFEIER, FIELRERICRELRRSH

import pandas as pd
import matplotlib.pyplot as plt
import torch

# NNEEHE
def load_data():
names = ["sepal-length", "sepal-width", "petal-length", "petal-width",
"class"]
# Ensure the CSV file is available or provide the correct path
try:
dataset = pd.read_csv("iris.data.csv", names=names)
except FileNotFoundError:
print(
"Error: 'iris.data.csv' not found. Please download it or place it in
correct directory."
)
return None, None
X = dataset["sepal-length"].to_numpy()
Y = dataset["sepal-width"].to_numpy()
return X.tolist(), Y.tolist()

# Wi (TEREE)
def lr_cf(X, Y):
= torch.tensor(X, dtype=torch.float32)
= torch.tensor(Y, dtype=torch.float32)
x_mean = torch.mean(x)
y_mean = torch.mean(y)
torch.sum((x - x_mean) * (y - y _mean)) / torch.sum((x - x_mean) *x 2)
b = y_mean - w *x x_mean

return w.item(), b.item()

# BETE (1B3U3)

def lr_gradient_descent(X, Y, lr, epochs=500):
= torch.tensor(X, dtype=torch.float32)
= torch.tensor(Y, dtype=torch.float32)

torch.tensor(0.0, requires_grad=True)

torch.tensor(0.0, requires_grad=True)

losses = []

for epoch in range(epochs):
y_pred = w * x + b
loss = torch.mean((y_pred - y) *x 2)
losses.append(loss.item())
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loss.backward()

with torch.no_grad():
w -= lr * w.grad
b -= 1r * b.grad
w.grad.zero_()

b.grad.zero_()

return w.item(), b.item(), losses

#t — FERF ——

X, Y = load_data()

if X is None:
exit()

# HEIBEARIEE
w_cf, b_cf = lr_cf(X, Y)

# IREARNZE S ZRH T
learning_rates = {
"Too Low (1lr=0.0001)": 0.0001,
"Good (lr=0.01)": 0.01,
"Good (1lr=0.05)": 0.05,
"Too High (1r=0.1)": 0.1,

results = {}

plt.figure(figsize=(12, 6))

# — 1. RHEHRKRECTEME —
plt.subplot(1, 2, 1)

for name, lr in learning_rates.items():

w, b, losses = lr_gradient_descent(X, Y, 1lr)
results[name] = {"w": w, "b": b}

plt.plot(losses, label=name)

plt.title("Loss Curves for Different Learning Rates")
plt.xlabel("Epoch")

plt.ylabel("MSE Loss")

plt.legend()

plt.ylim(o, 1) # FREIyEEELMENER

#t — 2. SHRENEHEIEE —
plt.subplot(1, 2, 2)
plt.scatter(X, Y, label="Original Data", alpha=0.5)
# RHIRREAAE
y_line_cf = w_cf * torch.tensor(X) + b_cf
plt.plot(
X,
y_line_cf,
color="black",




linestyle="--",
linewidth=3,
label="0Optimal (Closed-Form)",

colors = ["orange", "green", "cyan", "red"]

for i, (name, res) in enumerate(results.items()):
y_line = res["w"] % torch.tensor(X) + res["b"]
plt.plot(X, y_line, color=colors[i], label=name)

.title("Final Regression Lines")
.xlabel("Sepal Length")
.ylabel("Sepal width")

.legend()

.tight_Tlayout()

.show()

. Figure 1 = O X
AE>I Q=LA

10 Loss Curves for Different Learning Rates Final Regression Lines

' —— Too Low (Ir=0.0001) 1
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import numpy as np

import matplotlib.pyplot as plt
from sklearn import datasets

# SAHRRIERERIESE

from sklearn.cluster import KMeans, DBSCAN

X1, yl=datasets.make_circles(n_samples=5000, factor=.6,
noise=.05)
X2, y2 = datasets.make_blobs(n_samples=1000, n_features=2, centers=[[1.2,1.2]],
cluster_std=[[.111,
random_state=9)

X = np.concatenate((X1, X2))
plt.scatter(X[:, 0], X[:, 11, marker='o0")
plt.show()

{£551: JARFK-Means
def apply_kmeans(X):
tHHt TODO: EFINAY, VAR
# Lfi{tkMeans, REN3NE, FHTHIESTTN
kmeans = KMeans(n_clusters=3, random_state=9, n_init='auto')
Y = kmeans.fit_predict(X)

return Y

y_pred = apply_kmeans(X)

it AJALERERES
plt.scatter(X[:, @1, X[:, 1], c=y_pred)
plt.show()

{¥552: JAHEDBScan
def apply_dbscan(X):
tHHt TODO: EFINAY, VAR tHHt
# SCHMEDBSCANFHFHTHASTUN, eps=0.1
dbscan = DBSCAN(eps=0.1)
Y = dbscan.fit_predict(X)
return Y
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y_pred = apply_dbscan(X)

HH AR EER

plt.scatter(X[:, 0], X[:, 1], c=y_pred)
plt.show()
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| ARAGB S A EH 7508
¢ K-Means

X FK-Means, BOSLIRWERENBREE « |, HNEREEIT n_clusters DBI792, 3. 4BFRIK-
Means, BEEW—MERENRE LRAFEEIERIENLESH

import numpy as np
import matplotlib.pyplot as plt
from sklearn import datasets

from sklearn.cluster import KMeans

# — SRR ——
X1, yl1 = datasets.make_circles(n_samples=5000, factor=.6, noise=.05,
random_state=1)

X2, y2 = datasets.make_blobs(n_samples=1000, n_features=2, centers=[[1.2, 1.2]1],

cluster_std=[.1], random_state=9)
np.concatenate((X1, X2))

# -— K-MeansfmuxgtvsCis -—-

k_values = [2, 3, 4]

fig, axes = plt.subplots(1l, 3, figsize=(18, 5))
fig.suptitle('K-Means: AE n_clusters FIMmXILL', fontsize=16)

for i, k in enumerate(k_values):
kmeans = KMeans(n_clusters=k, random_state=9, n_init='auto')
y_pred = kmeans.fit_predict(X)

= axes[i]

.scatter(X[:, 0], X[:, 1], c=y_pred, s=5)
.set_title(f'n_clusters = {k}')
.set_xticks([])

.set_yticks([])

.show()

K-Means: [J[] n_clusters (0000
n_clusters = 2 n_clusters = 3 n_clusters = 4

o n_clusters = 2 :K-MeanssHEMWEEIETIAFAF. HFEIIBERIMEE, ESBRUOE
BSNAFIRNIAR—EB D EaH, BARARTEEIRIIESLEM.,
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o n_clusters = 3 : XPMERAEME LESE. K-MeansKEUBEIRD AT =1ED: IR, MR
A TR,

o n_clusters = &4 : NTEBANE, BEBENBRRIE (WINF) BRTOEMMED, SH

T E (over-segmentation)

* DBSCAN
XJFDBSCAN, FEAVGHITMISIEZRLLG, WME eps (PFHHAR) F1 min_samples (H/IPEE) X
[0S 2 e B AN e S

DBSCAN: eps [ min_samples 00000

eps=0.05, min_samples=5 eps=0.1, min_samples=>5 eps=0.2, min_samples=5
0: 4, 000: 57 0: 3,000: 0 0: 2, 000: 0

eps=0.05, min_samples=15 eps=0.1, min_samples=15 eps=0.2, min_samples=15
0: 3, 000: 276 00: 3, 000: 2 0: 2, 000: 0

eps=0.05, min_samples=50 eps=0.1, min_samples=50 eps=0.2, min_samples=50
0: 2, 0O0: 5129 0: 3, 000: 18 0: 2, 000: 0

MEE—1T ( min_samples=5 ):

o eps=0.05 (L) FEFKRN, KEBD REBRZIAL T IR,

o eps=0.1 (L) HRRE. FEXNEP, TEMRFIHNE, BERESERD,

o eps=0.2 (AL):¥REEX, SHRNMROEZERN IS HER, SIarmT 1A%,
WMEIE=F1 ( eps=0.1 ):

e min_samples=5 (F_k): ERIRLF.
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o min_samples=15 (IEH): BMEEXKES, BERKATRE, RIAMIERENZEES.

o min_samples=50 () BEEXRZEIFETZ. L, BOEN LR ZERBAREER,
B2 AR,

I idapi

import numpy as np

import matplotlib.pyplot as plt

from sklearn.datasets import load_digits
from sklearn.decomposition import PCA

from sklearn.manifold import TSNE

# NNEEUE
data, labels = load_digits(return_X_y=True)
(n_samples, n_features), n_digits = data.shape, np.unique(labels).size

print(f"# digits: {n_digits}; # samples: {n_samples}; # features {n_features}")

£553: JERIPCA
def pca_2D_reduced(data):
et TODO: EFIMAY, A
# HIIA— I PCAIREL, IREBIMER 2
pca = PCA(n_components=2)
# XIEEH TS TR
reduced_data = pca.fit_transform(data)

return reduced_data

print("\nRunning PCA... ")
reduced_data_pca = pca_2D_reduced(data)

tHH AT BRAELS
print("Plotting PCA result...")
# ATEFNAOUL, RIWERFEEHE LR

for i in range(n_digits):

plt.scatter(reduced_data_pcal[labels = i, 0], reduced_data_pca[labels
1], alpha=0.6, label=str(i))
plt.title("PCA of Digits Dataset")
plt.legend()
plt.xticks(())
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plt.yticks(())
plt.show()

{F554 . JEFt-SNE

def tsne_2D_reduced(data):
e TODO: EENAE, AR
# ¥RI— P t-SNERREY, SEEIMER /92
# init='pca' ] random_state AL ILEREFEEFIEISM
tsne = TSNE(n_components=2, init='pca', random_state=42, learning_rate='auto')

# WEUER TSRS
reduced_data = tsne.fit_transform(data)

return reduced_data

print("\nRunning t-SNE ... (This may take a moment)")

reduced_data_tsne = tsne_2D_reduced(data)

it AT LR UL

print("Plotting t-SNE result...")

# NTEFRIIME, AR REIGHRE LR

for i in range(n_digits):
plt.scatter(reduced_data_tsne[labels = i, 0], reduced_data_tsne[labels

1], alpha=0.6, label=str(i))

plt.title("t-SNE of Digits Dataset")

plt.legend()

plt.xticks(())

plt.yticks(())

plt.show()




# digits: 10; # samples: 1797; # features 64

Running PCA...
Plotting PCA result...

PCA of Digits Dataset

W 00O U pWN = O

Running t-SNE... (This may take a moment)
Plotting t-SNE result...

t-SNE of Digits Dataset

W o0 N O WL B WN O
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AR SRES

REE, ERRRBELDEEK S

PCA n_components . . .
BRI ZELLH. R, BEERIR90.955 /N,
i RONEEERITHE  GREEEDFY/RIRE, RATruerlHE
whiten
I3—1L. SRELT
t it REEPHE, FEE — BXR. EBEESS =, SR
perplexity A
SNE HEEREM, SURERIFH,
learning_rate RARIZK. BHE, ¥4 auto' E2HRIE(ELH,
n_iter PRAEARES. ZD1000. EERIHEISREN,
init IR, 189 'pea’ RIS B ENIE 4T IS

| WARRRBS AN AT

* PCARTESE4SCIE

STFPCA, REEAI LI EHE n_components HIRERUE

import numpy as np
import matplotlib.pyplot as plt
from sklearn.datasets import load_digits

from sklearn.decomposition import PCA

# NNEEUE
data, labels = load_digits(return_X_y=True)

# 1. Y —MREREEMDRIPCAIEEY
pca = PCA(n_components=None)
pca.fit(data)

# 2. IHERBEDEREBE
# pca.explained_variance_ratio_ 8& TE/NEMDO RIS ZELLG

cumulative_variance = np.cumsum(pca.explained_variance_ratio_)

# 3. SHIARRERD ZEHERISEEE
# np.argmax(cumulative_variance = 0.90) + 1 HLUKZEIS—MBISERENZES|
n_components_90 = np.argmax(cumulative_variance = 0.90) + 1

n_components_95 = np.argmax(cumulative variance = 0.95) + 1
> 0.99) + 1

n_components_99 = np.argmax(cumulative_variance
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# 4. LoHphE:
plt.figure(figsize=(10, 7))

plt.plot(range(1, len(cumulative_variance) + 1), cumulative_variance, marker='.',

linestyle="-")

plt.xlabel("Ep5HSEE (Number of Components)")
plt.ylabel("RFRERASEREAZ (Cumulative Explained Variance)")
plt.title("PCARFRFEL ERMAEMIML" )

plt.grid(True)

# RIS E LR

plt.axhline(y=0.90, color="r', linestyle='--"', label=f'90% variance
({n_components_90} components)")

plt.axhline(y=0.95, color='g', linestyle='--"', label=f'95% variance
({n_components_95} components)")

plt.axhline(y=0.99, color='b', linestyle='--"', label=f'99% variance
({n_components_99} components)")

plt.legend(loc="best")

plt.show()

print(f"{REE 90% RYSEFEE: {n_components_90} NEKD")
print(f"{REE 95% RISEFEZE: {n_components 95} NERKH")
print(f"{REE 99% RYSEFEE: {n_components_99} NEKHD")

PCADNOOOO00000

000000000 (Cumulative Explained Variance)

=== 90% variance (21 components)
—== 95% variance (29 components)
=== 99% variance (41 components)

0 10 20 30 40 50 60
00000 (Number of Components)

R gex Y

R 95%
RE 99%

MEERFEA T LB EE:
o (ERBESER: UNANNENSHERMHRE TEIIs0%RIEIESE. MATEHIERAFERELE.



o HRUGEVE (Trade-off) | ALITEL0 20D EMDZfE, HLFFREEFE (XMEHBR") . XE®RE
BIEINEMNSHE, EHRAVERIEmEskED,

* t-SNERYRBS#I5CI8

SIFSNE, BAEEEMSE, ERWE perplexity (BREE) XMRXERBSHNETRIEATIR
(L&

import numpy as np
import matplotlib.pyplot as plt
from sklearn.datasets import load_digits

from sklearn.manifold import TSNE

# NNEEEE
data, labels = load_digits(return_X_y=True)

n_digits = np.unique(labels).size

# IREBESLIOH perplexity (B
perplexity_values = [2, 5, 30, 50, 100]

# CIE— 1x5 HIFEMNE
fig, axes = plt.subplots(1l, len(perplexity_values), figsize=(20, 5))
fig.suptitle('t-SNE “perplexity  ZS#ECIGXILL', fontsize=16)

for i, perplexity in enumerate(perplexity_values):
print(f"Running t-SNE with perplexity={perplexity}...")

# WALt -SNEIEEY

# {ERPCAIIA AN EEMH RS R EE RIS ER TSI

tsne = TSNE(n_components=2,
perplexity=perplexity,
init="pca',
learning_rate='auto',

random_state=42)
reduced_data = tsne.fit_transform(data)

# FEXIN A FERLRHILE

ax = axes[i]

for digit in range(n_digits):

ax.scatter(reduced _data[labels digit, 0],

reduced_data[labels digit, 1],
alpha=0.7,
$=10) # JR/INRATAR/NN

ax.set_title(f'Perplexity = {perplexity}')

ax.set_xticks([])

ax.set_yticks([]1)

plt.show()
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Perplexity = 2 Perplexity = 5 Perplexity = 30 Perplexity = 50 Perplexity = 100
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Perplexity = 2 : FRRERIE, tSNEEDKIFEBNRRIEN., XSEEIER HZE HIFZM

MHVNREE, TETTEARIIHETESEE (0-9) AUENIERSELE,

Perplexity = 5 : FFIRBEERZEI—LRERAEE, EFSHFZHIUNRENELN, SE BRSO KRTZ

Nk,

Perplexity = 30 : RIEE., H(ITLLEWIBERLINDBRIFN. K&E0%, BN —

M, XFRBA perplexity=30 TEXMNEUERE LRIFBFE T BEHADBIIEREN.
Perplexity = 50 : RUR530K(, {KARY. HILFRTEEINNES, FINEZEHBESER

—LE,

Perplexity = 100 : [FEEIE, EEHREISHEELBEE, SH—YEADENETAE
MRS aEE, EIRREEARIBABEA.
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